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1. Which of the following are true?

2. .
a) mr-is a monomial

b) A binomial has two and only two terms
c) Degree of zero polynomial is zero

d) Every polynomial is a binomial

e) A binomial may have degree 3

(i) {a,b,e} (i) {d,b} (ii) {c,a,b} (iv) {cd,e} (v) {ca}
2. Which of the following are polynomials?

1
a) X+ -
X

(x+y)

(x—y)
c) (x+y)
d) x2

b)

1
2 -
e) x° +
X2

(i) {c,d} (ii) {b,d} (iii) {e,a,c} (iv) {a,c} (v) {b,d,c}

3. Which of the following are not polynomials?

a) (90x2—50xy—40)2)

b) 9x2

Cc) X+ -
X

d) (9x+4y)

o) (9x+4y)
(10x—10y)

(i) {c,e} (i) {a,c} (iii) {b,e,c} (iv) {d,a,c} (v) {b,e}

4. Which of the following are not polynomials?
a) Vx
b) 16x2

c) (5x+4y)
d) (10x-9y)
1

2 .
e) 16x“ +
16)(2

(i) {d,b,a} (i) {ce,a} (i) {b,a} (iv) {a,e} (v) {ce}



10.

11.

12.

13.

14.

Which of the following are not polynomials?
a) vVx
b) (7Ox2 +61xy—77y2 )
c) 49x2
(7x+11y)

(10x—7y)
e) (10x—-7y)

(i) {b,a} (i) {a,d} (iii) {e,b,a} (iv) {cd,a} (v) {cd}

Which of the following is a factor of16x2y3z3 ?

(i) 2xy*22 (i) 2xy32% (i) X3)322 (iv) 2x322 (v) 2x%)3 A4

. Which of the following is not a factor of2xy325 ?

() 2322 (i) 2x2)42° (i) 2x222 (iv) 2yz> (v) 2x°32%

Which of the following is a factor of(8x3+y4z3) ?

(i) y*Z3 (i) nofactors (iii) 2)3 (iv) 2x323 (v) 8x3

Which of the following is an irreducible factor of9)(2y'sz3 ?

(i) y (i) Y2z (i) x22 (iv) X222 (v) X%y

Which of the following is not an irreducible factor of()(2y+)(y2 +xy)?

(i) (x+y+1) (i) y (i) xy (iv) x

5/.3=

(i) 5X/x/xi (i) 5XiXixixj (iii) 5X/X/ (iv) 8X/XiXj (v) 3XiX/iXj

28b3C2=
(i) 26 xXbxbxbxcxc (i) 28xXbxXxbxXxbxbxcxc (iii) 28XbXbXcXc (iv) 28XbXbXbXcXc

(v) 31 XbXbXbXcXc

30/3j4k4=
(i) 32 X/XXX[X XX XXX kX Kk (ii) 27 XPX[X[X XXX X KX KX KX k
(i) 30 X /XX XXX XXX kX kX kX Kk (iv) 30 X/X[XjXjX[XXkX kX kXk

(V) 30 X/XIX[XjX XXX kX kX kX k

29XaxXa=

(i) 29&)2 (ii) 29a (iii) 31a2 (iv) 26&)2 (v) 29&)3



15, /XiXjXjXj=

W > Gy 3272 iy =222 (v P2 v 272

16. gXgXgXhXhXhXhAX[X[X[X[=

2,44 .. 3h4/4

)y g“h"i* (i) g 3p44

Gy ag>n** (v —->n* it v gt



Assignment Key

1) (i) 2) (i) 3) (i) 4) (iv) 5) (ii) 6) (iv)
7) (ii) 8) (ii) 9) (i) 10) (iii) 11) (i) 12) (iv)
13) (v) 14) (i) 15) (v) 16) (ii)
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